Annual SPIS Segment “Sliding Window”
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 Annual SPIS Segment “Sliding Window”

The SPIS process uses a 0.10-mile “sliding window” that moves along a roadway in 0.01 increments to identify qualifying annual SPIS segments for which to calculate SPIS scores. To qualify as an annual SPIS segment, a 0.10-mile long roadway segment must have an average daily traffic (ADT) volume and been the site of at least one fatal crash or three other crashes of any severity during the past three calendar years. 

More specifically, the SPIS sliding window process follows these steps:

1. Locate the site of a crash along a public roadway.

2. Overlay a 0.10-mile sliding window segment so that the crash site is at the end of the segment.
3. Determine if the segment qualifies as an annual SPIS segment. If qualified, calculate and report the annual SPIS score on the annual SPIS report.
4. Shift/Slide the segment by a 0.01-mile increment.

5. Repeat Steps 3 and 4 until the 0.10-mile sliding window does not contain a crash site.
6. Locate the next crash site along the roadway and repeat Steps 2 through 6 until all identified crash sites along the roadway have been evaluated.   Repeat the process for all public roadways with an available ADT.
With the sliding window approach:

· A crash may be associated with more than one qualifying annual SPIS segment. 

· For each qualifying annual SPIS segment, a SPIS score appears on the annual SPIS report.
· The annual SPIS report may contain multiple, overlapping annual SPIS segments that encompass the same crash.
If there is a fatal crashes or three or more crashes coded to the same location, it is not unusual to have 10 repeat SPIS segments with the same crashes (see below for an example of three repeat segments).  In fact if there are enough crashes on a particular segment of roadway, the SPIS segments may be contiguous for several tenths of a mile.
Annual SPIS Segment Sliding Window Example

The SPIS process locates a crash (C) on Main Street. A 0.10-mile segment is overlaid along Main Street so that the crash site is at the end of the segment. 
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A SPIS score is not calculated for this first segment (Segment 1) as the one Injury C crash does not qualify it as an annual SPIS segment. The window slides by 0.01-mile.
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Segment 2 also does not qualify as an annual SPIS segment, so no SPIS score is calculated. The segment window slides another 0.01-mile. 
Segment 3 includes the Injury C and Injury A crashes. With two non-fatal crashes, it also does not qualify as an annual SPIS segment, so no SPIS score is calculated. 

The window continues to slide in 0.01-mile increments, without calculating a SPIS score, until Segment 7 which includes the two non-fatal crashes and a fatal crash. 
Segment 7 qualifies as an annual SPIS segment with the fatal crash (and also because of the three crashes within it). A SPIS score is calculated and reported on the annual SPIS report beginning with this segment. 

The window continues to slide in 0.01-mile increments, determining if each segment qualifies as an annual SPIS segment. 
Segments 8 and 9 also qualify as annual SPIS segments, so annual SPIS scores are calculated and reported on the annual SPIS report.
The window continues to slide in 0.01-mile increments, repeating the screening process, until it does not contain a crash site (Segment A). The SPIS process then shifts to the next crash site along the roadway (Segment B) and repeats the sliding window screening process to identify qualified annual SPIS segments.

As illustrated above with Segments 7, 8 and 9, one crash may qualify multiple, overlapping segments as annual SPIS segments. Each qualifying annual SPIS segment has an associated annual SPIS score. On the annual SPIS report, these overlapping annual SPIS segments appear as a group as shown in the illustration below. 
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Note: Prior to 2011, the SPIS process used the sliding window approach to screen each state highway from beginning mile point to ending mile point, 0.01-mile at a time, to identify qualifying 0.10-mile segments for which to calculate annual SPIS scores. The above approach, screening only where crashes occur, became effective in 2011.


















0.10-mile roadway segments or “sliding windows” shifted by 0.01-mile increments
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